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No BT R HE HElniELE trL-134 t 9 L-137 EEE
Ba. kg Bg. kg Ba ke
1 At R4.6.27 b (EE% BREE9(<3.1) BREE9(<2.7) BRHEEY
2 At R4.6.27 SR (iEER BREE9(<2.8) BREE9(<2.9) - Janpcc
3 W IEHT R4.6.24 XyHF—= BREE9(<48) BREE9(<38.7) - Janpcc N
4 = [EET R4.6.27 EA23F (5EER) BREE9(<5.1) 6.51 6.5
5 SRITHT R4.6.27 -y BRHET(<4.3) BRHET(<43) - Janpcc
6 SEITHT R4.6.27 = BREE3(<4.1) BRHEE9(<4.5) - Janpcc N
7 SRITHT R4.6.27 XyF—= BREE9(<3.1) 12.8 13
8 SRITHT R4.6.27 Fayl BRHET(<3.6) BRHET(<34) BHEed
9 BEH R4.6.24 Fayl BRHET(<L3.6) BRHET(<3.9) BEEd
10 BEM R4.6.24 XyHF—= BRHEE9(<3.6) BRHET(<4.0) L Janpcac N
11 BEH R4.6.24 Aydx—= BHEEY(<36) BRHE9(<3.3) BHEY
12 BEH R4.6.24 —>=4 BRHET(<34) BRHE9(<3.9) BHEY
13 2R THT R4.6.27 AEE BHEET(<41) BRHEEY(<34) BHEY
14 SEIRTHET R4.6.27 EE BHEY(<32) BRHEEY(<34) BHEY
15 R IEMT R4.6.24 TI—AR1)— BRHEEI(<38) BRHEEI(<33) BREEY
16 = [FRT R4.6.24 TI—AR1)— BRHEE9(<3.0) BRHEEI(<34) BREEY




BRERER

No ST FEE HEniEsE I L-134 t 1137 EEE
Ba. kg Ba. kg Bqg. kg
17 = [T R4.6.27 Ryiav 7 IL—y (FEs%) BRHET(<34) BRHET(<3.2) BHEY
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